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Binary Choice (worth 2 points each)

1) Which of the following statements is a normative statement?

a. Government-provided healthcare increases public expenditures.
b. Government should provide basic healthcare to all citizens.

2) What do we call data on the 2015 income of 100 million households?

a. Cross-sectional data
b. Time-series data

3) You are the fourth tallest person in a group of 20 students. That means you are at the:
  
a. 20th percentile
b. 80th percentile

4) The determining factors behind the central bank's interest rate policy is investigated primarily in: 

a. Microeconomics
b. Macroeconomics

5) In the circular flow diagram, factors of production include:

a. Land, Labor and Capital
b. Goods and Services

6) Arik and Joseph produce only bread and milk. Arik has the comparative advantage over Joseph in the production of bread while Joseph has the comparative advantage over Arik in the production of milk. Given that there is NO trade between these two individuals, and that Arik and Joseph currently produce both of these two goods, we can conclude that their joint production is:

a. efficient.
b. not efficient.

7) Consider a market with 4 consumers. The demand curve for each of these consumers is given by the following equations where P is the price per unit in dollars and Q is the quantity of the good: 
Consumer 1: P = 10 - Q1 
Consumer 2: P = 15 - Q2 
Consumer 3: P = 5 - Q3 
Consumer 4: P = 20 - Q4
Given the above information and holding everything else constant, the slope of the aggregate demand curve when the price is between $5 and $10 is:

a. -1/2
b. -1/3

8) Suppose that a country currently imports 100 cars per month. The imposition of an import quota of 50 cars per month will, holding everything else constant, cause the country's price for a car to be:

a. above the world price. 
b. below the world price.

9) Consider the United States market for oil that is initially in equilibrium. Suppose people in the United States expect their future incomes to decrease and that oil is a normal good. Then, given this information and holding everything else constant, in a graph of demand and supply we should see:

a. A movement along the supply curve. 
b. A shift of the supply curve. 

10) Suppose that in an economy there is an increase in the consumption of imported goods. Given this information and holding everything else constant, then in this economy:  
 
a. GDP will decrease. 
b. This change will have no effect on GDP.




Multiple Choice (worth 4 points each)

11) Which of the following statements might be scientifically tested using time series data?

I. Output and unemployment tend to move together.
II. Higher income allows people to satisfy their needs better and one would expect that consumption levels of goods and services would be higher in richer countries at a given point in time.
III. Free lunches improve individual student performance.
IV. Average economic growth rates of US declined over time compare to other OECD countries.

a. I only
b. I and III
c. I, III, and IV
d. I, II, III, and IV



12) The figure below is the Quintile Shares of Total Income 1993-2013 that is created based on data from the U.S. Census Bureau. According to this figure, which of the following statements is NOT true?


a. The graph compares quintile income shares across 1993, 2003 and 2013. 
b. It reveals growing concentration of U.S. household income at the top of the distribution. 
c. The shares of total income held by the four lowest quintiles fell between 1993 and 2003. 
d. The shares of total income held by the four highest quintiles fell between 2003 and 2013.

13) Eric needs to solve the 462 problems in the Econ 102 textbook. Suppose the relationship for Eric between hours spent solving questions and the number of questions solved is linear. You also know the following information: yesterday, Eric spent 2 hours solving 44 problems and today, he solved 176 problems in 8 hours. If he continues to solve the problems at the same rate, how many additional hours will it take for Eric to solve all the questions in the textbook?

a. 11 hours
b. 15 hours
c. 19 hours
d. 21 hours

14) In a recent article in The Economist it was noted that “passenger cars made by Ford and G.M. averaged 40 miles per gallon, according to federal rankings, compared with 36 m.p.g. [miles per gallon] a decade ago.” The percentage change in gas mileage for these cars over this decade is approximately equal to:

a. 9%
b. 10%
c. 11%
d. 12%

15) If a market generates a side effect or externality, then free market solutions in this market:

a. maximize producer surplus.
b. are efficient.
c. are inefficient.
d. are equitable.

16) Given the PPF in the figure below, which of the following statements is true?
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a. A, is not feasible, but it is an efficient production point.
b. B is a more efficient production point then C.
c. Both C and D are feasible production points.
d. E is a feasible and efficient production point.

17) The linear domestic supply and domestic demand curves are given as drawn in the figure below. The equilibrium price, P*, is $6 and the equilibrium quantity, Q*, is 5. Under free trade the world price, Pw, is $8. Given this information and holding everything else constant, which of the following statements is true?
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a. If this economy opens to trade, this economy will export 7 units of the good.
b. If this economy opens to trade, this economy will import 4 units of the good.
c. If this market opens to trade, domestic consumers will pay $6 when they buy one unit of the good.
d. If this market opens to trade, domestic producers will receive $2 less per unit than they would if this market was a closed market.























Use the following information to answer the next two (2) questions.

Anna and Mike produce milk and bread. Their production possibility frontiers are shown in the graphs below. 
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18) Anna’s opportunity cost for producing an additional unit of bread or an additional unit of milk are _____ and _____ respectively, while Mike’s opportunity cost for producing an additional unit of bread or an additional unit of milk are _____ and _____ respectively. Given these PPFs, Anna should specialize in producing _____ while Mike should specialize in producing _____.

a. 1 unit of milk; 1 unit of bread; 1/5 unit of milk; 5 units of bread; milk; bread
b. 1 unit of milk; 1 unit of bread; 1/5 unit of milk; 5 units of bread; bread; milk
c. 6 units of milk; 6 units of bread; 2 unit of milk; 10 units of bread; milk; bread
d. 6 units of milk; 6 units of bread; 2 unit of milk; 10 units of bread; bread; milk

19) Which of the following prices does NOT fall within the acceptable range of trading prices for Anna and Mike for one unit of milk?

a. Half a loaf of bread
b. 2 loaves of bread
c. 3.5 loaves of bread
d. 4.5 loaves of bread








Use the following information to answer the next two (2) questions.

Consider the small, closed economy. In the market for cheese in this country you know the following where P is the price in dollars per unit of cheese and Q is the number of units of cheese:
Domestic Demand for cheese: Q = 55 –   P
Domestic Supply of cheese: Q = P – 20

Furthermore, you know that the world price per unit of cheese is $30.

20) The government of this country decides to open the cheese market to trade. Given this information and holding everything else constant, which of the following statements is true?

a. The quantity of cheese supplied by domestic producers increases when this market is opened to trade.
b. Cheese consumption in this economy increases when this market is opened to trade.
c. The quantity of cheese supplied by domestic producers is greater than the quantity of cheese supplied by foreign producers when this market is opened to trade.
d. Domestic producers take most of the gains from trade when this market is opened to trade.

21) Suppose that the market for cheese is opened in this economy, but the government also decides to impose an import quota of 15 units of cheese. Given this information and holding everything else constant, which of the following statements is true?

a. Because of the import quota, the domestic price of cheese is now lower than the world price of cheese.
b. With the imposition of this import quota, cheese consumption in this economy increases relative to the level of cheese consumption in this economy when it is an open economy.
c. With the imposition of this import quota, the quantity of cheese supplied by domestic producers is greater than the quantity of cheese supplied by foreign producers.
d. This import quota imposed by the government is a favorable policy for domestic consumers relative to this market being an open market.








22) Suppose the equilibrium price of an inferior good decreases and the equilibrium quantity of that same good also decreases. A possible explanation for this outcome is:

a. Income decreased.
b. The price of an important input used in the production of the good decreased.
c. The price of a complement good in consumption increased. 
d. The price of a substitute good in consumption increased.

23) Consider the market for personal computers that is initially in equilibrium. Assume that a new technology is discovered which lowers the marginal cost of production. At the same time, users of these personal computers find that they want the newest model because of its ability to allow the user to multi-task. Given this information and holding everything else constant, which of the following statements is true? Relative to the initial equilibrium price and equilibrium quantity, the new equilibrium:

a. Price is indeterminate and the new equilibrium quantity is indeterminate. 
b. Price increases and the new equilibrium quantity increases.
c. Price is indeterminate and the new equilibrium quantity increases. 
d. Price decreases and the new equilibrium quantity is indeterminate.

24) Consider the market for automobiles that is initially in equilibrium. People suddenly start using more public transportation in order to reduce the amount of pollution produced by driving cars. At the same time, automobile producers substitute an input of production that is cheaper than the input they have been using. Given this information and holding everything else constant, relative to the initial equilibrium price and quantity, the new equilibrium:

a. Price increases but the new equilibrium quantity is indeterminate. 
b. Price increases and the new equilibrium quantity increases.
c. Price is indeterminate and the new equilibrium quantity is indeterminate. 
d. Price decreases and the new equilibrium quantity is indeterminate.












25) In the following economy two goods are produced: Apples and Bananas. Suppose 2014 is the base year for purposes of calculating real GDP.  

	
	Quantities
	Prices

	
	Apples
	Bananas
	Price per Apple
	Price per Banana

	2013
	10
	5
	$2
	$10

	2014
	12
	7
	$3
	$12



According to the data above, the approximate change in real GDP in percentage terms between 2013 and 2014 is:

a. 33%
b. 25%
c. 30%
d. 50%

26) Suppose that John gets a loan of 100 dollars for the year.  The bank doesn’t charge any interest on the loan but it does charge John a fee of $1 for the financial service it has provided to him. Given this information, what is the contribution of this transaction to this year's GDP? 

a. $100
b. $1
c. $101
d. $99





















Use the following information to answer the next three (3) questions.

Consider a market that has a market demand equation where P is the price per unit and Q is the quantity of units of the good:
Market Demand: P = 10 - Q
Furthermore, in this market there are only two firms whose individual firm supply curves are given as:
Supply Curve for Firm A: P = 2QA  
Supply Curve for Firm B: P = 2QB + 4  
where QA is the quantity supplied by Firm A and QB is the quantity supplied by Firm B.

27) Given the above information, what is the equation for the market supply curve?

a. P = 2Q when Q is between 0 and 2 and P = 2 + Q when Q is higher than 2.  
b. P = 2Q when Q is between 0 and 2 and P = 1 + 2Q when Q is higher than 2.  
c. P = 1Q when Q is between 0 and 2 and P = 3 + Q when Q is higher than 2.  
d. P = 1Q when Q is between 0 and 2 and P = 1 + Q when Q is higher than 2.  

28) What is the value of producer surplus when this market is in equilibrium?

a. $12
b. $10
c. $11
d. $9

29) Now, assume that a third firm enters the market and its owner announces “I will supply 1 unit of the good no matter the price”. Find the coordinates, (Q, P) of the "kink point" of the new market supply curve given this information. 
 
a. (Q, P) = (2, $4)
b. (Q, P) = (2, $5)
c. (Q, P) = (3, $5)
d. (Q, P) = (3, $4)
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Share of Total Household Income (%)
Bottom Quintile	
2013	2003	1993	3.2	3.4	3.6	2nd Quintile	
2013	2003	1993	8.4	8.6999999999999993	9	3rd Quintile	
2013	2003	1993	14.4	14.8	15.1	4th Quintile	
2013	2003	1993	23	23.4	23.5	Top Quintile	
2013	2003	1993	51	49.8	48.9	






